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SNC2D Task — Scientific Notation Name: 6O ( n
1. Convert the following values INTO scientific notation using the Profix | Abbroviation | Vaits N

normalized value (decimal place is to the right of the first non- :‘: : ﬂ
zero dlglt) giga G 10’
mega M 10*
9 ilo K 10
a. 5600000000 = 5.6xI!0 L : "
3 deca da 10
he 4,900 = (MrRie O : o
c. 35 = .8 xI10' el i =
d. 1,200,000,000,000,000,000 = .2 (o8 i : vl
e. 0005 = &x 1077 di . 32

f. 0.000,000,008,6 = 8.6 x 677 @

|

g: 0.623 - br23 = lO_

2. Convert the following into standard number format (remove the scientific notation).

'/ 4sx10® =i 600 00gae ¥

b. 17.65x10% = 1165000000000 00 0. 12—
C%12.6x100° = D.000 CO6G OGO 26 7 @
d. 4285x10% = b.00OCH2R5S

e 0.005%10% ' "l 5,000 60 0 b

fhy; 114.5x 10" 4 Y opoae oo e e, 13

g 377745x10® = 0.0 60,0 OO 327774 5 B

3. Complete the table with the missing information for each line (all base units are meters, m).

Standard Number Scientific Notation Number with Prefix on units
45000 m 45x10°m 45 km
0s0D000OO32 M g 3.2x10°m 2.2 um
5, 00, 00O, OO0 Mm 7 £x (07 m 5Gm
0.000,000,007,8 m 7.8 x1o° 7 m 7.% nm }_2:/
000000 000 450 1 450x 102 m H80 am i
b . obo soo 006 000 OB 75 w 107'% wm 1Exisf T g 75 fm
120.45 L2048 % (0™ 1,208%  hp

4. Multiply the following together WITHOUT using a calculator, leave your answers in Scientific Notation. .

a. (5,000,000,000) x (2,000) b. (0.000,000,4) x (0.000,003)
< BuinT 1k 2% 197 = Hyl0"T x "2 yo"b -
=B o' * c L2 wip e
'Ho's L Lakdo wio'®
(%

e I*‘lK{D’

0



